
myF - 21   (tpfpjk; -1) 
 xNu myfpdhy; fhl;lg;gLk;/fhl;lf;$ba ,uz;L my;yJ ,uz;Lf;F Nkw;gl;l 

fzpaq;fSf;fpilapyhd vz; uPjpahd njhlu;G tpfpjk; vdg;gLk;' 

 tpfpjj;ij vspa tbtpy; vOj Ntz;Lk; 

 

 

          gor;rhW      ePu;                  gor;rhW      ePu; 

   gor;rhW   = 2 𝑙       gor;rhW = 300 𝑚𝑙 

   ePu;    = 5 𝑙            ePu;  = 2 𝑙 = 2000 𝑚𝑙 

  gor;rhW : ePu; = 2 ∶ 5       gor;rhW : ePu; = 300: 2000 

,q;F 2, 5 vd;gd tpfpjj;jpd; cWg;Gf;fshFk;  ,q;F 300, 2000 vd;gd tpfpjj;jpd; cWg;Gf;fshFk;  

 tpfpjnkhd;wpd; cWg;Gf;fis g+r;rpaj;jpYk; ngupa xU vz;zpdhy; ngUf;Ftjd; %yk; 
my;yJ tFg;gjd; %yk; rktY tpfpjq;fisg; ngwyhk;. 

2 ∶ 5         300: 2000 

2 × 3 ∶ 5 × 3       
300

100
:

2000

100
 

6 ∶ 15        3 ∶ 20 

 

 tpfpjnkhd;wpd; midj;J cWg;Gf;fspYk; nghJf; fhuzpfs; fhzg;gLkhapd; mtw;wpy; 
ngh.fh.ng' ,d; %yk; mt;tpfpjj;ij vspa tpfpjkhf vOjKbAk;.  
cjhuzk; 
20 ∶ 15                   12 ∶ 30 ∶ 18       

  

ngh.fh.ng' = 5 vdpd; midj;ijAk; 5 My; tFg;Nghk;        ngh.fh.ng' = 6 vdpd; midj;ijAk; 6 My; tFg;Nghk 
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4 ∶ 3                2 ∶ 5 ∶ 3  

 

2 𝑙 
5 𝑙 

300 𝑚𝑙 2 𝑙 myF rkd; ,d;ikahy; 
myif rkdhf;Ftjw;F 
yPw;wupy; jug;gl;Ls;sij 

kpy;yp yPw;wUf;F khw;Wjy;' 

rgufKt khfhz fy;tpj; jpizf;fsk; - thuhe;j ghlrhiy 

juk; :- fzpjk; 

juk; - 7 

3k; jtiz , 01 Mk; thuk; 



 

 tpfpjj;jpw;F Vw;g gfpu;jy; 

01' khq;fha; Ftpanyhd;wpy; 60 fha;fs; cs;sd' mtw;wpy; gOf;fhj khq;fha;fSf;Fk; gOj;j  
   khq;fha;fSf;Fk; ,ilapyhd tpfpjk; 2 : 3 MFk;' khq;fha; Ftpaypy; cs;s gOf;fhj   
   khq;fha;fspd; vz;zpf;ifiaAk; gOj;j khq;fha;fspd; vz;zpf;ifiaAk; fhz;f.  

   gOj;j khq;fha;fspd; vz;zpf;ifia fhz;Nghk;.  

    tpfpjk;        = 2 ∶ 3 

 nkhj;j tpfpjk;              = 2 + 3 = 5 

 khq;fha;fspd; nkhj;j vz;zpf;if    = 60 

 xU tpfpjj;jpw;fhz fha;fspd; vz;zpf;if  = 60 ÷ 5 = 12 

 mjd; gb gOf;fhj khq;fha;fspd; vz;zpf;if = 2 × 12 = 24 

   gOj;j khq;fha;fspd; vz;zpf;if  = 3 × 12 = 36 

                          

                 

02' &gh 18 000 I epky;" gpay; kw;Wk; fky; vd;gtu;fSf;fpilNa 3 ∶ 5 ∶ 1 vDk; tpfpjj;jpy;   
   gfpug;gl;lJ. Xt;nthUtUf;Fk; fpilj;j gzj;ijf; fhz;f. 

 tpfpjk;        = 3 ∶ 5 ∶ 1 

 nkhj;j tpfpjk;      = 3 + 5 + 1 = 9 

 gfpug;gl;l nkhj;j gzk;.      = 18 000 

 xU tpfpjj;jpw;fhd gzk;     = 18 000 ÷ 9 = 2000 

 mjd; gb  epkYf;F fpilj;j gzk;   = 3 × 2000 = 6000 

   gpaYf;F fpilj;j gzk;   = 5 × 2000 = 10 000 

   fkYf;F fpilj;j gzk;   = 1 × 2000 = 2000 

   

         

 ckJ fzpj ghlg;Gj;jfj;jpy; 21.1, 21.2 gapw;rpfis nra;aTk; 


